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QUESTION 1

In the same operating system environment, what is the order to restore the oracle database through RMAN?
A. controlfile, datafile, pfile

B. pfile, datafile, controlfile

C. datafile, pfile, controlfile

D. pfile, controlfile, datafile

Correct Answer: A

Reference: https://docs.oracle.com/cd/E11882_01/backup.112/e10642/rcmadvre.htm#BRADV85339

QUESTION 2

The customer online database runs on an OceanStor S5500T storage system. The database uses a total of 6 LUNSs.
Now it\\'s time to put the number on the S5500T. Which of the following statemetns are correct regarding the use of
array- side functions to complete the data migration? (multiple choice)

A. Multiple LUNs for Customer Business. When implementing data migration using remote replication, you need to add
multiple remote replication tasks to a consistency group

B. Use remote replication to complete online data migration

C. LUN copy or remote replication. After the migration is complete, you do not need to do any configuration on the host
to start the service

D. LUN copy data migration. During the copy process, you can dynamically change the migration rate

Correct Answer: ABD

QUESTION 3

With Redhat linux enterprise 6 system the df and du commands allow you to see the mnt capacity, as shown below.
What causes the capacity shown to not be the same?

redhat: ~ # df -h / mnt Filesystem Size Used Avail Use% Mounted on / dev / sdb 1008M 514M 443M 54% / mnt redhat:
~ # du -hs / mnt 40k / mnt

A. The mnt directory mounted block device is abnormal

B. The mnt directory is also mounted another block device and some files that are currently open.
C. The mnt directory have been deleted

D. This is a bug of the known du and df commands that need to be upgraded to the latest version

Correct Answer: C
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For commonly used SQL server 2005 and 2008, users can connect to a specific service through the SQL server
management studio tool database engine. T login there are two ways to authenticate. Which mode is needed for the

client application connection?
A. sql server authentication
B. Windows authentication

C. Log in as super user

D. Other ways when landing

Correct Answer: A

QUESTION 5

The OceanStor V3 storage system has 96 hard disks in one hard disk domain. To maximize the performance of the
hard disk, it is recommended to use the LUNs in the hard disk domain. The total number of hard disks is not less than:

A. 96
B.4

C.32
D. 12

Correct Answer: D
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